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P.T.O.

This question paper contains 3 printed pages]

LB—04—2024

FACULTY OF HUMANITIES

B.A. (Third Year) (Sixth Semester) EXAMINATION

MARCH/APRIL, 2024

ECONOMICS

Paper-XI (Optional)

(Mathematical Economics-II)

(Tuesday, 02-04-2024) Time : 10.00 a.m. to 12.00 noon

Time—2 Hours Maximum Marks—50

N.B. :— (i) Attempt all questions.

(ii) All questions carry equal marks.

(iii) Calculator is permitted.

(i)

(ii)

(iii)

1. Explain the meaning of Analysis of Variance and write its assumption.10

Three different techniques namely medication, exercises and special diet are

randomly assigned to lower the blood pressure. After four weeks the reduction

in each person’s blood pressure is recorded. Test at 5% level, whether there

is significant difference in mean reduction of blood pressure among the three

techniques. (F,0.05 = 3.88)
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WT (    2    ) LB—04—2024

5% 

(F,0.05 = 3.88)

Medication Exercise Diet

10 6 5

12 8 9

9 3 12

15 0 8

13 2 4

2. Explain the conditions of maximum and minimum function. 10

Find the maximum and minimum value of the following function :

(i) y = 3x4 – 10x3 + 6x2 + 5

(ii) y = 4x3 + 12x2 + 12x + 10

3. Find the distance between two points (4, –1) and (7, 3). 10

(4, –1) (7, 3) 

Show that lines 4x – 5y = 0 and 8x – 10y = 0 are parallel.

4x – 5y = 0 8x – 10y = 0 
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4. Mathematically explain the concept of optimum combination of factors of

production. 10

The utility function of consumer is U = q1q2 and his budget constraint is

� = 2q1 + 3q2 find the equilibrium unit of q1, q2.

U = q1q2 � = 2q1 + 3q2 

q1, q2 

5. Write short notes on any two : 10

(a) Cardinal utility

(b) Cobb-Douglas production function

(c) Find the elasticity of demand at P = 1 and the demand function is

given by D = 7 – 2P.

(d) Find the equation of straight line which passes the points A = (3, 4)

and B = (–5, 2).

D = 7 – 2P P = 1 

A = (3, 4)  B = (–5, 2)
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